. Consider the PDA below that recognizes
strings generated by the CFG G with rules
S—bAa; A—Aal|c.

eSa A &b

cAa €€A
ce$
— Qloop — Qaccept
e$e
aas eAe
bbe

Which of the following is the correct list of
stack elements (leftmost is top) when the
b is matched from the input baa.

(3 points)
vibAa$

2.$abA

3.Aab$

4.baA$



. Consider the PDA below that recognizes
strings generated by the CFG G with rules
S—-bAa; A—Aalc.

eSa €A gb

cda €A
€S
eeS
PRI
e
aas A€
bbe

Which of the following is the correct list of
stack elements (leftmost is top) when the
first a is matched from the input baa.
(3 points)

1.bAa$

2.aaA$%

3.aAAS

vd4.aa$



. Consider the PDA below that recognizes
strings generated by the CFG G with rules
S—-bAa; A—Aalc.

eSa ggA €sb

cAa €€A
ce$
w—p Qloop — Caccept
£$e
aas eAe
bbe

Which of the following is the correct list of
stack elements (leftmost is top) when the
second a is matched from the input baa.
(3 points)

l.baa$
v2.a$%

3.Aa$

4.aA$



